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There are in all 29 questions in this question paper. All questions
are compulsory.

yeAt &g FeiRa sie 376 T sifed &

Marks alloted to the questions are mentioned against them.

S 9 BY eAFYd Ufed de FHfud 3R S|

Read each question carefully and answer to the point.

9] e 1 SRfacedrd Yo &1 §¥ M9 & Heddh WU o IR H AR faebed
fedr v €| e ey e 3T SRy H foiRae| e W= 2 9 7
I FifSee s we g

Question No. 1 is multiple choice question. Four options are given
in answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 7 are definite answer type
questions.

o T 8 F 17 db YD BT IR A 40 &l H clfore|

Question No. 8 to 17 are to be answered in about 40 words each.
Yo T 18 ¥ 25 Feb YD BT IR AU 100 It H S|
Question No. 18 to 25 are to be answered in about 100 words
each.

o= T 26 3 28 dh YD BT IR AU 250 T&T H &l
Question No. 26 to 28 are to be answered in about 250 words
each.

(viii) 52T T 29 /A amenfa we 21 foret st FdengER a5

(ix)

Question No. 29 is Case/Source based question, to be answered
as directed. :

= U-UF § THY R BIS [Gbed Te1 & I Biaua w21 & iaRe fdeed
e fovar mam &1 O el § Shaet U fdeed ot 8l 3T QifoTe|

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of
the given choices in such questions.
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AR g 87 1
(i) et HIE (i) BRI
(i) T AHEW (iv) W

Who among the following argued that the problem of overpopuiation in a
society is releated to the capitalist system?

(i) Karl Marks (i) Max Weber

(i)  Karl Manheim (iv) Malthus

Yo R dlct ASTGR] Bl YHdHs Holal (Pees oex) @ e fee P
(iy g (i) e

(i) T S (iv) =99 & PIE TE

Who has given the name 'footloose labour' to the migrant workers?

(i) Vasavi (i) Rutten

(i)  Jan Breman (iv) None of these

S TfE 2ER T TRER & i T @0 €, 3% & o0 6w TRE B
ATIER Heil? 1
() weafHs® Aer Gy fEdos Ader

(i)  JAR® TAAER (iv) =g AER

What kind of relatives will be call those people who are secondary relatives
of our primary relatives?

(i) Primary relatives (i) Secondary relatives

(iii)  Third relatives (iv) Fourth relatives

et 3 R gt 3 Ricere e wraer s 3 & foe & 1
()  oferran ae fesar # fagar (i) IR® BT T |

(i) ORERTTE Hepid (iv) ST S 9§

The development of caste prejudices in India is related to which of the
following -

(i) belief in purity and impurity (i) vedic period system

(iiiy  traditional culture (iv) caste organization

wRa ¥ Ffera & SRoT S a8 gAY/ /8- 1
(i) &FaE i)y IR

(iiiy ST D FHE (iv) T\

The major challenge/s that diversity poses in India is/are-

() regionalism (i) communalism

(i)  problem of casteism (iv) all of these
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Rder:

TR TR (1928) &1 e @ - 1

() T aTReE (i) PR 3aIeH 3

(i) afere 3mareH | Gv) = 9 foeelt & @

Bardoli Satyagraha (1928) is related to -

(i) Peasant movement (i) Worker's movement

(i)  Dalit movement (iv) None of these

e st @ ST B SreTEdr Bi- 1
() & 3R, IR iy & . wusd A

Gip . @ RiEa (iv) @am e

The second backward class commision was headed by-

() B. R. Ambedkar (i) B. P. Mandal

(i) V. P. Singh (iv) Kalyan Singh

o7 w5 2RI Wk § STl RN o1 3R e g faar e
() g SHand (iy @S foed

(i) HEREY fageiRan (iv) @S Aguese

Who started the zamindari system in India during the British rule?

(i) Lord Cornwallis (i) Lord Lytton

(i)  Queen Victoria (iv) Lord Mountbatten

o ST -1 3 GTTeY &Y Wuel §, &1 Bl @I STHSUH (A) goI BRI (R) & &Y
3 Sy R 1T 2| RrtferRaa Rieped (i), (i), (i) ST (iv) ¥ 9 AR ST e
3R aferel

Directions :In next two parts of Question No. -1, there are two statements labelled

423 (IKJ)

as Assertion (A) and Reason (R). From the following options (i), (i), (iii)
and (iv), select their correct answer.
() Ader R AR TE & qo R, A Y HET TR Bl

Both A and R are correct and R is the correct explanation of A.
(i) AT R AT TR # o R, A B T SaTRE T aheell

Both A and R are correct but R is not the correct explanation of A.
i)y A FEY & T R T €

A is correct but R is incorrect.
(iv) AT R &1 6 B

Both A and R are incorrect.

[3] : [P.T.O.



(@) BB (A): S HYRTA F AT WIe]0T a5 BH g3 &
PRI (R) : . STUIBIeT ST eI a1 R 3 | ' 1

Assertion (A) : In tribal communities, social stratification is very less.

Reason (R) : Most tribal communities were depended on forests.

(1) o (A): 19 THIST GURS! o faeran gAidarE @1 waR fear ar 39

AT sfewr far |
BRI (R) : SIS HT=ICH ST ¥ IS B T8} §eel T, b T8
IRfer f&at aen geat 2 & foog 29 &) 1

‘Assertion (A) : When Social reformers campaigned for widow remarriage,
they were socially boycotted.
Reason (R) : Social movements cannot change society easily, since it

goes against both entrenched interests and values.

2. WRdH URAR FAISH HATT B I 69 U8e B 887 1
When was the Ministry of Family Planning first established in India?
3. diftie fawwar &1 o aref &2 1

What dose gender inequality mean?

4. 3ORIEUS 159 BT T fod I gAT? 1
In which year was the Uttarakhand state formed?

5. HRd H 3NYLT B QUT IHE 3R B e Wiaer & fovw arede § fvar mar 27

1

In which article of the constitution is the provision for complete abolition of

untouchability in India made?
6. 'gadal st fow & guR & dafe 22 1
'Ceiling Acts' are related to which reform?

7. Sitaecll v fRie & STeTTaT HIRe dbe 3R Wi R o uf¥ed) weghy o1 vua g

I8 $UT TG & T 39 ? ; 1

'Apart from ways of life and thinking, the western culture influenced Indian art

and literature'. Is this statement true or false?

423 (IKJ) [4]
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uRRarRe e @ aRefia Hifsel

2
Define family disintegration.
R TS H TIRT T I SR P 1 82 2
What is the main basis of stratification in western society?
ST T GURUE RO 9T €7 Ha § FJHASC| 3
What is secularisation of caste? Explain in brief.
T TS 37 AT febeidp GIRT 1 TS 3R e 2
Who established Arya Samaj and why?
JIEaTE & e § sy & 9ieT a1 87 2
What is the role of the state in the development of nationalism?
R arelf & TR o7 ST & fere ST amengd ‘g &/ TS §? 2
In what sense has caste become relatively 'invisible' for the urban upper caste?
R 7T BT AiEETHROT FT 2? / 2
What is 'feminization of agricultural workers'?
SitTiERT, RGN § Y Hafed &2 "
How is industrialisation is linked with urbanisation?
WRA S T eI T sy ai-er &2 2
What are the major modern industries of India related to?
ST BUeT fiel & PR 1982 # B3Td R &l 97 2
Why did the workers of Bombay Textile Mill go on strike in 19827
SRR, FT 8 FHEAISC | 3
What is demography? Explain.
AT UgE o i & 3R a8 B gt 8 3
What is community identity and how is it formed?
Rigrerar Rt e &2 WRel H e o1 wiRa el i ¥l &2 3
What is patriarchy? What are the major problems of patriarchy in India?
graTe T BT &2 TR W T8 [T BR! UR 3MeRa gl 8? 3
What is regionalism? What factors is it usually based on?
sitiiaRoT i YR A 3TaT IERaT ¥ gfg FRal 8? 3

How does industrialization increase the housing problem?

423 (IKJ) [5] - [ P.T.O.
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JufaerETE &1 EAR o R 5 R e veT #2 we § avi S| 258
How has colonialism impacted our lives? Discuss in brief.

3AYAT / OR
Wﬁfﬁ%mmaﬁaﬁwmﬁmﬁaﬁw%aﬁ?wémﬁﬁwﬁ
NEEIE
What was the role of cities in the economic system of British empire in India?
Explain in terms of trade.

IRISTIRY 1 T et jE 3aRaRoT 7 ufkomy &2 ‘ 3
How is the problem of unemployment a result of liberalisation?
ST STRNCH B g fareTwansit o1 av Sy 3
Describe the main characteristics of the labour movement.

. ST B ARG AT BT FaT vk &2 e foar sk Wl & fov 3we @

ATfiTeeT 87 5
What is meant by the 'age structure' of the population? Why is :t relevant for
economic development and growth?

3AUAT / OR
TR-R gedt srvar WRA & faobrT # 981 q1en 21 5% g ) vp o Ry

'The continuously increasing population is a major obstacle to India's

development'. Write an article on this topic.

TAferRoier SaYer e Snfies ve omaT % TEl @ o e dew g £ R 5 Rile]

5
Environmental movements often also contain economic and identity issues.
Discuss.

3141 / OR
PID BY 719 60 I & He 3R qarEy|

Distinguish between peasant and New farmer's movement.

PYD TS fodt et 27 39! Wi oAy semse | 5

What is called agrarian society? Explain its main characteristics.

3UGT / OR
E’F{Haﬂ%wé?wwﬁgﬁaﬁwa‘rw&?

What is Green Revolution? Has the Green Revolution been successful in India?

423 (IKJ) [6]



29. f=feRad srgese & eamyde ufer 3k s 9 Re e weet & 3e e

Read the following passage carefully and answer the question given below-
ST SRTET e ST TEd o Taicl & WIENRUTeaT §raifsies e seend) 2| o
3! Arel vd T U] B oafts srmeReT gfgH o afiera 8w & o
I8 Y 81 Fha @ b 39 vl il aredt Rufer o & o wor uResm fear &) aenfy
g fawHar afwsat & dra Test a1 ‘Tiglis’ Rrear & aaie 3 T8 &, 9 o8 39
HTST G 39 Bl S & oo o I8 &1 a8 rdvel S ves THIST § Ay o7 anfien<or
B BU U SHThiHA TRaT H 3% Soliag oRd! 2, I TSR] IS Ssor
e |

Patterns of unequal access to social resources are commonly called social

inequality. Some social inequality reflects innate differences between individuals
for example, their varying abilities and efforts. Someone may be endowed with
exceptional intelligence or talent, or may have worked very hard tc achieve
their wealth and status. However, by and large, social inequality is not the
outcome of innate or 'natural’ differences between people, but is produced by
the society in which they live. Sociologists use the term social stratification to
refer to a system by which categories of peovple in a society are ranked in a

hierarchy.
(@) DTE s FHIST H & Tghs 3R st Rerfy orar o e 22 2

How can a person achieve prosperity and good position in the society?
(@) Treg 4 ARG & ara AT fauHaT 3a9 & & 0 o FRE &

What is actually responsible for creating social inequality among individuals?

(1) IS TRIaRT o dad &7 2

What is social stratification?

X kK %k %k %k
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